BERTPORSEMERBEOHERICOVTEER24FE6 A1 BHRESD)

Baks REHK [BBAK
EEER 81
BEY 57
BEY 23
Z it 1
EHE 29
JKEY 26
42 -3RHES 3
RIFE 9
BEY 8
BEY 1
HARE 17 2
BEY 15 2
BEY 2
BER 67
BEY 4
BEY 62
Z it 1
FER 47 1
BEY 39
JKEY 8 1
BEHRE 1
BEY 1
EFR 73 1
BEY 5
BEY 46
KEY 14 1
Z0ith 8
AR 80
BEY 6
BEY 66
KEY 7
42 -ARHES 1
I A 77
BEY 4
BEY 69
KEY 2
Z 0l 1
K 1
BER 22
BEY 15
KEY 3
42 -ARHAES 2
K 2
HENE 3
BEY 2
42 -ARAES 1
iR 14
BEY 6
BEY 1
KEY 7
RHR 28
BEY 11
BEY 16
TN 1
ey ) 1
FrmE R 9
BEY 2
BEY 2
KEY 2
42 -ARAES 2
LK 1
deimE 8
BEY 4
KEY 3
42 -ARHES 1
A)IE 1
BEY 1
SREBKT 31
BEY 31
EER 8
BEY 8
=BRE 3
BEY 3
IR 3
BEY 2
KEY 1
BME 34
BEY 34
BiER 33
BEY 33
EER 13
BEY 12
KEY 1
HIFE 1
Z it 1
— 20
Z it 8
42 -ARHAES 11
K 1
EE 1
Z0ith 1
B 2
KEY 2
#BE 715 4

BRHITIY BREGR [BBREXK
BEY 176 2
BEY 415
KEY 76 2
42 -AEAES 21
K 5
EEI=EN 1
Z it 21

[2Y 715 4

\

=1



B &S OMSHENERE DRRIZOLNT (BE) LLBE1(2)
TR24E4A 1 BUBRERES BBHEENRRBEET) RazLHERRIS

me | ase | smew | 20E wasE me | se | smen | 20E wBsa paan | 0T waaE
1946 81 T IT2HE, B /D130 BIDF 128, SF YT I, TH/EI8k, DTTE6H B AE EIFE I RILL Y1 67 1 RALART1# 6 -
1410 1 BAH 97 — 9 —
TAF A28 ESA26H, TAHLA2 1 IEUAANIBH SOAILI64 RXF14E AT F 134 AT HLAYWE, /SHLAME TIAUTAF A8l %H 33 - ! -
Kt 088 231 ST DT AHE, YA, ZRUE AGHUAE, TRA LA FUTF I T LNTIIE EATRIME, TTFE, LAOH LA THUIETA2 BRNR (4L ARAES 10 — 16 0
- L XELTY X2 HOIL /D EHE YOV D24 ST ITF2E LTV A2 FVRANIE IO (1 HFITIRUE RS BREK 35 — 2
mER HS1 e XTHLA e RS HUA A LATHE ot 105 = 12 —
4 ARARR| 107 — e 347 1 3 —
4 3 — BEN 265 — 9 —
0ot 323 1 EYIOEIBFIH 248 — 2 0
Py 47717 314 KEM 22 — 1304 —
228 4 RALAST 230 AL TITIE ST IS, B A B /220 5DF sam [FRARERE| 18 = 2 —
1051 — e 1 1 VEIDT A 1,308 0
539 26 ADF O RXFOH, 95 A4 EA LT 20 ETA2HE A2 IE T 2 — 2 —
21 -_ 4 -_ 753 -_
19 9 A/ A 560 1 1 =
3 36 — 756 0
24 4 YaUE R 4 19 — 66
1,891 80 1 — 66 0
375 25 S /214 RAAST60, AV T I SHYTY (AT, FT0F WHE [#9-IRARS 6 — 3
2,003 — K 21 — 1 —
674 35 FAIIFRAN M, 7S K1, X T RXFAME, SA3E, AL H LA ADF I, TEUHRAIE, SEM LI EFA P T4 ot 3 — 4 0
32 — Py 86 0 26
58 7 FRA) BEN 66 — 2 —
20 9 B AGTIE 780 — a | 3 —
3162 76 KEM 17 — BER | lunmas 2 -
699 79 RAL AR 424, AT T4 B /5, UL asstE, 7T VA BI0FME, YU XA24E, T2 TN RHR |41 LRARS 7 = ot 3 —
2,190 — B ok 9 — Py 56 0
248 22 DT AN NTIRIE, EATR2ME, TTIUTI M, SRR zoft 1 — — mEm 10
50 — s 880 0 FIIR RARS 1 —
15 — BED 43 — i 1 0
10 2 ®(—ER WA 24 wED 137 = _REM® 1 —
7 — 16 — 26 —
it 3219 103 BER |[41L-LRARS 8 - BRER [ 3 —
305 1 TERINDE | mEK 67 - I ARARE 1 -
2873 — 8 — Z0ft 1 —
75 2 ATF I T TAE et 279 0 et 32 0
45 — BEN 4 — BE 5 —
6 — 826 — 2 —
37 — . 86 — IR 3 —
3341 3 BE | nmas 6 — 4 ARARE 1 -
443 13 B /298, RAL AR T4 zoft 12 - 1 0
242 — Py 934 0 3 —
293 1 E Y ral ] wED 16 — 1 —
38 — 2 — 1 —
50 2 F(—ER WA 24 3 — 5 0
17 — 21 0 3
1,083 16 5 4 —
68 1 — “ 0
203 — [] 0 2 —
92 — 3 39 —
3 — 1 — 4 —
2 — 4 0 45 0
4 — 3 2 —
372 0 50 — 10 —
495 136 RASAS7 1184, DT T564, B2 IASHE, Y24k, 547 /220 DSE2ME, SHVTY (ATD) 1. SSDF 1, SX1# & KEM 1 — 1 —
1895 — BER 1 — 13 0
152 3 T4 ATF1 2 — 1
102 — 57 0 2 —
1 — 10 1 —
110 33 B A58 51 — 1 =
2,755 172 BHR 3 — 5 0
20 — 1 — 2
492 — 65 0 151 —
6 — - 32 2 —
6 — =ZER 32 0 1 —
1 — 1 156 0
3 13 2
528 0 HER 1 — 332
64 6 — 334
2335 = 21 0 1
KEM 10 15 1 —
49 ARARE 3 — 321 — 2 0
R | grgmn 9 2 VxR - 14 — 6 —
k. i = PEN e anmes 4 = 19 =
it 11 — HEK 1 — 4 _
it 2433 2 it 355 0 ot [#9-nrmes| 188 —
BED 274 — BED 5 — BEK 52 —
wEN 104 — . wED 9 — ot 573 —
SER KEM 22 1 FRX mg':q 11 = it 842 0
I ARARR| = i
A 27 = — B 31,958 769
.,‘1 T 142 = ->Z<%%ﬁﬂﬁﬁi@l:Iiﬁ%ﬁﬁﬁi@&v@ﬁiﬂﬂﬂﬁﬁi@
7 — RER S ARAAR 1 = (BBEBEHROEE) OEREET.
0 = i K ! = 2#. 4R 1 BLIROEERGIERBEI. 144
IKEWH 15 — E0ith 1 —
HEH | F-IRBES 18 — e 154 0
REK 27 =
0t 2 -_
it 134 0




